EARAROBREBRT —5 XN—ZXBISH—F

202218248 () 16EXAH1H

R prESm

C3n+

\(9&1@1 n ‘[%EH%F&] | & 1000 =

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

B %R B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
- =<, 0 B | i 31, -6~ 7| - KEFt (k)
118113 ¥¥ 7275V B4R A S M IARE
RiTHAFEIY B:E—bO—R ERRT7—L
6 | EEREA 1:31.4 433 |40 — | 2 | 47 [EEE (KH)
2 2| "IV /FEE * 54.0 @ Ga) | ) I7—2hEYIY
R:FVyvY/F+F BRIy EILR EFERS
) 4 5 | LS 1:31.9 11-8-7 | 40.1| — 5 459 [ {ELARBEE (KH)
30711 VI 540 21/2) o |=EES
RiF—MURDIL B:Z2-35WLI59Y HET7—L
3 ° 4 | Bl 1:31.9 7-11-10 [39.4| — | 13 | 483 |RERE (KH)
s 0| LEVILEFR i i F59) vy | BEBNDZ @)
R:TSRADVS— B:NLTa—LY bk 1EANS
— ) — # o4 | TH# 1:31.9 8-9-9 397 — | 9 | 442 |EEHE KH)
5 g0/ A -TYU—F 5.0 ) Lo |BF
RIZAVIFRA—I7—R— R B YFDILY KEs
S —— . RS :32. -11- . = #HER (KH)
618114 ZNTSTIL—D 6 #53.0 1(332) ° 110 1 40.0 ! fg; FHE—
RiFvALO FIRT—LIIL— = IE—
3= BERA :32. -4- 6| - NGFEBRE ()
05| 8| vOvyrYF4 ® 4| TER 7 T R A e | mas
RPIFPIIRAFVAR B FATARIY BE AR
SIS BEHR : -10- = RIREEZ k)
sl ¢ NIHTVTU—)L LR 5y S 1283, M E ?g? () BB
RS/ VY v—0 B:I—VRUKRY 25S
= s, o = o] :33. -7- Al - BEE ()
917|112/ 2297>a23Y "4RD 1(93?:? AN ’ (4:350) Bimm
RE-UR B:F—ILITSVZa— ESHT7—L
N . > 4 | EEE .33, - 2] - BRA—% (k)
1001111739>7x35Y B 1(323)4 R 10 (4_72‘; 1BE
R:N—EYIv— B:TzT7—I+v b EZatyes]
W > 4t 4 | TEDMBIE 1:33.7 1-2-2 | 43.5| - 8 485 | NBHSFEE ()W)
1KY 4| Oy bR 56.0 112 @) | @& SLAAYI—F3FN
RiRoSAYF BiE—5TR=— FIBILLIASS
~ ~ H o5 | BARE 1:34.0 6-5-6 | 42.6| — 3 | 520 |SHE— (KH)
12/ 5|7 HorrROy 56.0 (1 3/4) 1) (#) 7oL7
RiIFIRIA TSR B:YISTSFF AH R
< — 4t 4 | HIR - - - - 1 540 | PIBEZ (KH)
w3 | A VIFHZT 56.0 (hit) ) | FAAYL—=REK=2Z ()
RIUFIAVNI N B:T—TrA ROV iz ERe
—_~ ,\muj—.Eﬁ _ _ _ _ _ _ % 7(
Pl 5| UavSYHTIER w4 GRS ) ) Tann
Rity/0704 B:OLYT—TAY S —B
® 1—F—@BIEfI
13=zr=
20—7F— 4,1,8,2,12,7,9,10,6,13,11,14
30—73— |(1,4,2,8,7,13,12,11,10,6, (9,14)
43—7— |1,4,2,13,8,7,11,12,10, (9,14) .6
@ Ih\R=E
B B 13 2,190 | [ AR 2-13 2,300 | | #& = 2-8 5,880 | | =& | 2-11-13 50,0204
B B 13 390 11-13 3,980/ | | #& & 8-2 12,5101 | | 3 [ 13-2-11 435,530M
2 2508 2-1 1,101 | | &5 & 2-13 11,850M
1 220M £ H 13-2 35,560M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




